w S.S.C (Part-I) A/2023

(For all Sessions)
Roll No to be filled in by the candidate J Group-I I Paper Code | 5 | 2] 6 [1]
General Mathematics (Objective) &)z
Marks : 15 Rw?-\~a Time: 20 Minutes
Note:- Write answers to the questions on the objective answer shest provided. Four possible answers are given.
Which answer you consider correct fill the corresponding circle A,B,C or D in front of each question with
marker or ink on the answer sheet provided.
S B S Lu}ufc../’b,lla'?LnL/.,at’;'lK_,lﬁyu/___é(dli.’-gﬂz:’%-) D,C,B,A-:«Llﬁ;ﬁ/lgédlf}: HO
1.1 20 % of 600: 207 ¥ 600 1.1
A 12 B) 120 < 20 D) 200
2. Percentage form of 1.25 is: -« Furdllase 2
A 125% B) 125% © 0.125% D) 125% -
3. Zakat is deducted at the rate of : -‘4.(3)1&6 }uf AT S
(A) 25% B) 35% ©C) 45% D) 55% '
4. Crop produced with artificial resources Usher is deducted @:  :¢ 24 ¥ 4&‘5 ke e ISl 4
(A)  25% B) 5% € 10% D) 25%
5. The price at which any article is purchased: :4‘_.3(?&4} ;{g(}f/,u’- s -5
(A)  Profit g (B) Loss o
(© cCp xied (D) Sp wdfed
6. The periodic installment to’b€ paid by insured is called: O VI sLu8 6
(A) Bonus Py (B)  Discount LA
(C)  Premium y (D)  Markup ) ot
7. The tax charged on all taxable incomes 'is called: -%ru,f Jg Vi W,J,u'ﬂ oz 7
(A)  Excise duty dpsLL (B)  Direct tax BT
(C) Salestax Sk (D), Income tax Jg ‘f;
8. Characteristics of 2.057 is: ~6¥ 2057 -8
' @A) o0 B) 1 <o 2 O 3
9. Ina",nis called: -9.1:%( n Ja" -9
(A) radical Jie (B) radicand ni
(C) ~ base JU (D) exponent Ved
10. A.M between v3 and 3 x V3 is: - bl J7K 3 x V3.3 .10
A  2x+3 (B) 5xV3 © 9xvV3 (D) 4x+V3
11. If A and B are two sets then (AU B)=? (AUB)=2usnien A s B .11
A o B) ANB © BNA D) BUA
12. Set of prime numbers: Wbl L12
A {2,3,57,..}3} B {2,4,6,8,...} (CY {1,2,3,9, o I M {0,1.2, 3,0}
13. If y=3 xthen forx =2, we havey =? y=2? I x=2 Ly=3x/ .13
Ay 2 ®B) -3 C 6 ™ o
14. What are co-ordinates of origin: dlnf e Lige 14
@ a,n B) (0,0 © (©,0 O 1,0
15. The middle value of data arranged in numerical order is called: -9_811{ _-,Edm@’ wWhilres /‘f 215
(A) Mod 1l (B) Medium s (C) AM besl D) G.M bl
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(Part-I) A/2023
L. (For all Sessions)
Roll No to be filled in by the candidate Group-I
General Mathematics (Subjective) R p - ~23 (AN FLdz
Marks : 60 Time: 2:10 Hours Za:10:5, 60: A4S
' Section - I : Jol o
2.  Attempt any six parts of the question.  (2x6=12) S y;:..é/ 2,
(i) * Define direct proportion. B Y R )
'(i:i)‘ Express '-fo-: : 2 inits Asiplplé.stn form. T .g“" u—_"ﬁu(,‘(f —4- 12 Gi)
(iii) Find the value of x in the proportionx : 3 :: 60 : 15 .é o x uc x:3::60: 156 Gid
iv) Ifa:b=2:3, thenﬁndtheratioof(ia 5b . d/('r"’ 6a:5b Jx a:b=2:31 Gv

2 (W) Ca.lculate Usher on wheat crop amountmg to < 350, 000 di‘L Ja’ 18 JJJ Jéu S5~ W)
Rs: 350,000 produced by artificial resources. - > r F.c'u ’ Y
ey

‘(vi) Najeeb left a wealth amounting to Rs. 400,000. < é a1l 1e U it ess 400,000 id (i)
He left behind a widow, while they did not

have any child. Find the share’'of Najeep's B e “"é‘j’( NL oLl
widow.

(vii) Define profit. S /7&‘3' (vii)
(viii) A traderearns a profit of 20% by s_elling a 20% sletSed e 2700 S Gieab Ll (vidd)
chair for Rs 2700. Find the cost price of Chair. . p

B _J_/(:L"'aiau_’,(fgff.‘aﬂfg
(ix) Find the selling price, when 8 Yoe A sless 395,75 edeidtns By S et fed (i)
MP = Rs 395.75 ? r
Discount = 8 % '
3.  Attempt any six parts of the question. (2x6=12) ZJS ﬁzu;r.éf 3.
(i) What is meant of pay order? te e nfe ()
(i) Define premium. HEw S, G
(i) Define direct tax. S E s Gi)
(iv) Simplify and write answer in exponential form o el P SicinaZ & GV
72
(v) Write in decimal form 0.525 x 107 RN )
(vi) Iflogx=0.5019, find x. ' &+ x Inlogx=05019/1 (i)
(Vii) Evaluate log 5 + log 20 + log 24 + log 25 - log 60 ZS Gid
(viii) Find A.M between V7 and 3 \/— -z (st nl 3 V7 29 V7 Giid

(ix) Find the 11th term of G.P 2,6, 18 ....cc.... 11265 -GS GO
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®
(i)

(iii)

@iv)
v
(vi)
(vii)
(viii)

(ix)

Note:

5. (@)

®

| 6. (a)

(b)

(b)

(b)

The total monthly income of 8 persons are
Rs 3000, Rs 4000, Rs 3500, Rs 4500,

Rs 3800, Rs 4200, Rs 3600, Rs 5400. Find
their arithmetic mean.

 Attempt any six parts of the question. = (2x6=12) - 0 O P
Write De Morgan's Laws. Ruy R[,\ 23 -y B paeen
IfA={3,4,5}andU={1,2,3,4,5,6,7} InU=1{1,2,3,4,5,6,7) sA={3,4,5} A
Find A° &

AT N
If A={3,5,6},B={1,3} ficd AXB  BxA mAxBIxB=(1,3},A={3,56} /i
andBx A ; '
, &>
Represent the point on the graph G(0,7) & S
Define origin. Ay N
Draw the graph of an equation x = -2 D e b f¥ x =-2:
Define range and write its formula. £ {;.t_;:.‘d Snge s e
Find geometric mean of 2,4 and 8. _é r”’””"‘é K 8 462
Find the median 4,6,7,8,9,7,10 P s
Section - II (po
Attempt any three questions from (8x3=24)  _yrfedfetdion
the following:
| | Yo
A family has 12 pets of which 6 are cats, 2are =5, g 2 Putde 1201 Lot L
dogs and the rest are birds. Find the ratio of the MR o
number of Jusne iyt
» Bil‘((ils to dog -g_’i-.( r:h’ :ff)ufu?/m Usky, ()
il Birds to pet .
) e ...Z;: ﬁ:’" e U:jilguﬂkulu;»‘/, (i)
Calculate zakat on following: Aless 400,000 (5o ss 800,000=ASir
(i) Gold Rs. 800,000 ' L .
(ii) Cash Rs. 400,000 2 #3854, (04 50000 I7 50 St
(iii) Silver 50 tola (Rs 5000 per tola). .
Find the cost price, if sales price of fan is Fobidan SEGNE LSS 1 gired
Rs 1470 and profit is 1/6™ of cost price. : e wmd )
s fEicefas)
I;"W l}mg W%‘;/ld Rs 1250 Pav‘i to bef L1 750 Bowlll faile 6% &L o p e 11250
eposited at 6% per year simple protit to T ) i i
gain Rs 750. Simple profit. : ez n/ TS e
' The annual income of a house and land is sle_ss 15,00,000 o A0aT 20 el iLin AL
Rs 15,00,000 and 20,00,000 respectively. °. . .
Find the property tax on each of these two at <0/ 16 % 4Liz U InIE 20,00,000
the rate of 16 %. , Z r,J*‘Jg dely
2.38 x 3.901 P
Solve with the help of logarithm. — E Sl 8
s ﬁgmowith)th% hélp g the 5’%;8 on  /D5,6),C(4,0:B3,2: A0,
aph paper A (0, -7), »=2), »U) s ; s
%r (15) , g)p ¢ S Sud o Sey g S

(4373500042402 300004 TS A1 U T 27
4540091 &2:3600¢-3/4200¢4-114500:42/3800
NI TS
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TORICIS S.S.C (Part-I) A/2023
(For all Sessions)

[ Roll No to be filled in by the candidate | Group-II [Papercode [ 5 [ 2|6 |8 |
General Mathematics (Objective) ' W)l 7
Marks : 15 Ruf-2.23 Timef;{Mﬁuﬁ
Note:- Write answers to the questions on the objective answer sheet provided. Four possible answers are given.

Which answer you consider correct fill the corresponding circle A,B,C or D in front of each question with
marker or ink on the answer sheet provided.
. s Ey gy_@gtg.;u;wanz./.,l?nr.,:zuu/,qmm_wzﬁa,, DCBA=AZR Al ly g 12
1.1 Loss is there when: el 1.1
' (A) SpP=CP eipad = pied (B) SP=MP edifed = edtuges
(C) SP>CP ehided s phed (D) BPZCP adied < yied
2. The company undertaking the act of insurance is called: -z ;,l‘a,aloz.{il';( F L‘f,ﬁ:_ec;-{ 2
(A) Insurer ] (B) Insured L&
(C) Insurance S (D) Insurance policy u’-‘o’ gu),ﬁu
3. The percentage of profit / mark up charged is called: -2 /"J Jd,«a,J‘_;,,_m /& 3
(A) Time f'e (B) Rate sz, (C) Interest sv» (D) Principal s
{ Mostatps g iEetngls,  susdblgdu i fupte b
of some goods and services is called a : D TP ST )
(A)  Excise duty dasAs (B)  Property tax S deig
(C)  Income tax Jg ,fl (D) Tax z
5. /3 is: il V3 25
(A)  Natural number Aul 3,3 (B) A rational number st
(C)  Anirrational number su Pl (D)  Aninteger owle
6. In 4°,4is called: -w%’fﬂ o~ 4 -6
(A) Base yli (B) Exponent @wzs (C) An integer m(‘? (D) Radical i
7. Next term of 12, 16,21, 27 is : et 12,16,21,27 7
A 30 B) 34 © 31 D 32
8. GM between 1 and 8 is: ~e b AU nl8s1 8
(A)  -2V2 B) 2 ©) ©242 (D) +£2v2 .
9. (AUB)'=7? ‘ (AUB)Y =7 -9
(A) (ANBY B 0 (C) A°UBf D) A°NB°
10. If, then y=3x,x=2,y="? ' xSl 10
A 0 B) 6 © -3 ® 2
11. The co-ordinates of origin are: ' dlnf e L 11
A ©,0 @ (O, © 1.0 @™ @,
12. If all numbers in a set are added together and then the total is Stf s ETES s o A 12
divided by the number of scores in the set is called: %
._4‘-tﬂ{,:ingkfffr4)lﬂJ
(B) Mediam - (B) Mode e (C) Mean Lest (D) GM bt
13. 0.13 as percentage is : W fadons <13
(A) 13% B) 13 C) 10% (D) 30
14. Inproportiona:b:: c:d,aandd are called: aEf duadtfabiicid 14
’ (A) Means W’ (B) Extremes u.*.’ P
(C)  Antecedents SR (D)  Consequent ws¥
15. On a crop produced on artificial resources, Usher is YT Pl as e
VUSSP WP B

deducted at the rate of:
(A) 10 % By 25% < 5% D) 25%
223-09-A***+ &Z
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S.S.C (Part-I) A/2023

(For all Sessions)
Roll No to be ﬁlled in by the candldate Group-II
General Mathematlcs (Subjective) s (ENELz
Marks : 60 Rusp -2 Time: 2:10 Hours
| Section - 1 N oo |
2. Attempt any six parts of the question. (2x6=12) ZE S 4:4.{3[ 2.
(i) Express this decimal as percentage 0.065. 0.065u /S Sardi s (i)

(i) What is meant by extremes and means? Sesl pf e b (i)
(iii) What is meant by inheritance? : N Sel ety (iiD)
(iv) What is‘business partnership? Write its types? 0 LIS, Jf?€_¢3x{ Ybed (V)

(v) Calculate Usher on a rice crop produced by . 600,0008.11.‘)‘;JJM B e B1sd.s )

" natural resources amounting to Rs. 600,000. y b »

"L g
(Vi) " Calculate zakat-on gold atxlounting to -uf (3 Ip; ig17ne, 1,110,000 sAdi S (D)
Rs. 1,110,000.
(vii) If a deceased had left a property worth of =diess 1,500,000 sl e LJ"’ S (viD)
Rs. 1,500,000. Work out share of widow. F A )
P& LopdinSikn e
(viii) Find CP, when SP=Rs2640and 129 gliins+2640 = sjcd by fpigicd (ViiD)
loss =12 %. :
(ix) Find x'narked price if SP = Rs 2400 1 4% L aiess 2000 =5spd Byt nde it (ix)
and discount = 4 %. ; _
3. Attempt any six parts of the question. (2x6=12) S iz g S 3.

(i) What is ATM machine? fe g iden @ .

(ii). If we invest Rs 1000 in a saving account 4 1000‘;__,%, Lt /delo % A 5 (i)
- at the rate of 10 % profit per year. How -
much would we have in one year. L 4103'& e LT
(iii) What is Excise duty? | re e dpati ()
(iv) Find the ax.nount ofta.x.at the rate of 10 % at L.}U'c—?/;u( 10 % 402‘}:‘&___&_,}12000 @iv)
marked price of television of Rs 12000. ¥
‘ £ xb‘-”’u’g
(v) Define income tax. Stk ,fggg f; )
(v Simplify: (18)"2 x (64) ul# o)
(vii) Simplify: . PR S (D
(viii) Si{npl-ify and vs_'rite your answer in 0.96 x 107 L (f sz (viii)
scientific notation 2 % 104 -
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®
(@D

(iii)

(iv)

)
(vi)
(vii)

(viii)

(ix)

Note:

5. (@

(b)

6. (a)

(®

7. (a)

(b

8. (a)
(®)

wal

A.ttempu any six parts of the questmn 2%2 x6=12) . A _Z:J" f 721 ,;;,5 ¥4
Find the 6 term of a GP =2,3,6, s -d/r"” Fuss 6 J 23,6
Deﬁne Anthmetlc mean. RTINS ' S .J/J/"de"
Find an AM between | 245 , 6 JE . TN
If A={1,4,7,8 andC={3,4,5,7} 3y

i ﬁndAﬂ C inC= {3 4 5 7}15!A {1 4, 7, 8}

: e ANC
Represent the point D (6 , -3) on graph paper. .u,‘/ /th/fngl/ fD(6,-3)5
Define mode. ' A _e Flut
Forthedataset62434545ﬁnd .J/r:"”)lb):b’62434545¢"£:|/
the medlan oo - 2 £ s 2 2 < : J -

Find the range for 2,9, 3,6, 12,8 ySprerd 2,9,3,6,12, 8
Differentiate between finite'and infinite sequence. L/ 5 a2t ashss st
Section - II (29 A

Attempt any three questions from (8x3—-24) G F e lard P St ,c -
the followmg

Ifthestayof14menfor8daysmahotel 30 224004 £ & ss8K, ,,714 a7 _(,/q
costs Rs. 22,400. Find the cost for stay of . Yo i i -
7 men for 13 days. Ko Te L Les136uesT 7 It/

An amount of Rs. 400,000 left as (5 898 s g ol 5 2l 7
inheritance is to be distributed among a JigmsiA U dg it j“" é—f ol
widow and four daughters. Work out the -ér’ S L L -"f"mﬁ,_,LU 400,000
share of each.

The marked price of a ceiling fan is Rs. 6881t T202d b L bed L

720. Tt is sold for Rs. 684 what percentage
discount is being allowed?

Jd}u}b’d/u Mdé/..m} o

Waseem invests Rs. 5000 at 52 S Yo per 9L Lo i 4L ;'.:UVS-; %L,_:JSOOOL(-’ s
annum profit compounded annually Find ' Coild s e
the amount at the end of the third year, Jx_t—‘? f/’rwé"h’"ﬁ
Khalid works 6 days / week. Find his gross PRI 1200 il ot /r{ O i
monthly wages, if his rate of pay is Rs. 200 B
per day. 4 r:‘?”uZl,l,LJ ELT |
T 25.36 X 3.4569

Solve with the help of logarithm:

AR 987 x 893 E Sl
Find three GMs between 2 and 32. -4 r’l” bk anf—32u'2

Verify (AUB)" = A"NBUif i (AUBY = A°NB° S
U=1{1,2,3,4,5.6,7,8,9 0= 11,2.3.456,7.89
A= {2 A={23.69
B={1,3,6.7.8 B={1,3,6,7,8)

234-9%-A

™)
(vi)
(vii)

(viii)

(x)
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